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&% v5. Choose the word closest in meaning
to the word 'absorbed'.

<) Fatigued <) Disturbed

%) Engrossed ) Successful

#fé% ©&: %) Engrossed
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¥ ¢w Find out the correct sentence.
%) I and he is present,

) He and I are present.

%) He and me are present,

9) I and him is present,
#f3< ©F: %) He and I are present.

&¥ ¢8 What is the right Synonym of
'Hostile'?

%) Flexible ¥) Unfriendly

%) Happy ¥) Indifferent
#f$% ©e: %) Unfriendly




¥ ¢¢The correct translation of A&
et a<e @t cefae e

%) The anti-socials are still at large,

) The anti-socials are still now at large,
%) The anti-socials are at large.

H) The anti-socials are till at large.

3% ©ER: $) The anti-socials are still at

large.

¥ ¢y. Many men and women aspire to
—____ presidency.

F) a ¥) an

) the ¥) no article

¥+ ©&R: 9) no article

&¥ ¢4, They went to school yesterday,

”
<) did they ¥) weren't they
%) didn't they 9) were they

HdF ©&T: 7)) didn't they

&% ¢ v Choose the word closest in meaning
to the word 'absorbed'.

%) Fatigued 4) Disturbed
%) Engrossed %) Successful
Hf8% ©&T: ) Engrossed

d¥ ¢5. 'Out and out' means-

%) Not at all ¥) Brave

%) Whole heartedly ¥) Thoroughly
#f¥< ©&a: 9) Thoroughly

&¥ vo, Find out the wrong sentence.

<F) How long has Rahim been unemployed?
¥) How long do you know Karim?

%) She has been ill for quite a long time,

¥) My Father got married in USA,

#f$% ©&F: 9) My Father got married in USA.

&% ©>, Who is calling me? T Passive
form =I?

<) By whom I amm called?

¥) By whom I amm being called?

%) By whom am I being called?

¥) By whom have I been called?

Af3% ©&: ) By whom am I being called?

¥ v We have to deal _____ our problem.
F) with ¥) after

%) on 9) by

#f3F B&w: ) with

&Y Y 'Accommodation’ is-

<) Noun <) Adjective
) Preposition q) Adverb
APF T ) Noun

&% w8 There are two brothers, but ____ of
them were honest.

<) both ) neither

) either ) no one

H3F TFA: 2) neither




¥ we, Choose the word which is most
nearly opposite to the word 'OPAQUE'
<) Feverish %) Monstrous

%) Monstrous 9) Transparent

Af¥< ©8a: ¥) Transparent

¥ vy Do you know the solution _____ the

problem?

%) to 9) into
) for ) about
3% TET: ) to

¥ ya Choose the correct spelling.
%) Achievment ¥) Acheivement

¥ ukr ‘Othello’ is a Shakespear's play
about -

1) Achevement q) Achievement F) A Jew ¥) A Roman

3% ®&R: 9) Achievement o) A Turk 9) A Moor
5@3‘ W: Ef) A Moor

SN usEveryone ________ when a thief &% 40, The phrase pooh-pooh is-

entered into our house. <) To reject ¥) To accept

<*) would sleep ¥) were sleeping

) was asleep 9) were asleep

A(¥F ©&T: ) was asleep

%) To respect H) To take for granted
¥ ©EH: F) To reject




